																		LAST			IUIL				
									ASP	AVG	AS	P						THREE		SECND	PACE	BEST	BEST		
DATE	TRK #	‡	DT	PP PRG	HORSE	CLASS	SRR	SUR	110	SPD R	# TD	S SYS:	SYS2	CLOSE	P2F	P4F	PFN	AVG	MLINE	CALL	LAST	ALL	LAST	TOTALS	LAST RACE COMMENT
11/14/18	DED	1	7.0	3 3	PRETTY	-5	S>S	D>D	53	66 1	 0 5	9 6.4	6.6	1.06	71	57	72	59	4.00	59.4	200	391	340	732	Fractious; no threat
			7.0	8 8	TIZ ONE	0	R>S	D>D	65	65 1	0 6	5 6.3	3.6	1.70	80	75	80	66	2.00	50.5	235	388	421	809	Could not match stride
			7.0	6 6	SHOW'EM	0	S>S	D>D	60	61 1	0 6	1 5.4	5.3	1.02	76	74	78	56	3.00	53.5	228	385	406	791	Gained show
			7.0	2 2	WORD OF	0	S>S	D>D	55	61 1	0 5	5 7.9	6.8	1.17	73	72	66	62	15.00	51.9	211	373	358	731	Never a threat
			7.0	4 4	MIDGE'S	0	R>S	D>D	55	61 1	0 5	5 3.9	5.5	0.70	83	79	61	58	3.50	49.5	223	376	382	757	Empty drive
			7.0	7 7	VAL'S PAL	0	S>S	D>D	65	61 1	0 6	5 3.9	5.1	0.77	79	76	61	48	12.00	51.3	216	372	363	735	Steady fade
			7.0	5 5	HARVEY'S	0	S>S	D>D	60	56 1	0 5	5 7.8	3 7.2	1.08	74	72	69	50	30.00	52.3	215	359	356	715	Passed tired ones
			7.0	1 1	BLAKES	0	S>S	D>D	60	53 1	0 5	7 6.	2 5.3	1.16	72	71	70	63	8.00	52.5	213	356	374	730	Improved position

LACT

TOTI

#1 has a bit of quickness in her past, and moves in from the 10-hole (PP10T); Rosier's an ok gate jock; she should try and show some speed.

#4 and #7 appear to be the quickest, and #7 is tied for the highest average speed at this distance and surface; both are staying put but have been racing against better with no success. #3 has the highest AVGSPD overall, with #8 second. #3 drops to a NLL and is third off a layoff, very good connections. #5 is third off a layoff with poor figs. #6 is second off a layoff with average figs. #8 is a BTL horse, 2nd off a layoff with okay figs and highest last race speed rating, finishing third against similar.

Contenders: 3,8,1 - probably in that order. All depending on what the jockeys choose to do.

Finished 8,3,1 .50 tri paid \$35

DON: 8-6-3-4 1

																		LAST			TOTL						
									ASP	AVG	ASP							THREE		SECND	PACE	BEST	BEST				
DATE	TRK :	#	DT	PP PRG	HORSE	CLASS	SRR	SUR	110	SPD R#	TDS	SYS1	SYS2	CLOSE	P2F	P4F	PFN	AVG	MLINE	CALL	LAST	ALL	LAST	TOTALS	LAST	RACE COMMENT	
11/14/18	DED	2	8.0	6 6	<b>HEAVEN'S</b>	-10	R>R	D>D	68	68 16	69	4.0	5.4	0.75	90	93		49	1.80	49.1	183	403	259	662	Vied ins	pair; eased	
			8.0	8 8	HOT RAIL	0	R>R	T>D	74	68 16	74	5.5	3.8	1.42	83	78	65	64	2.50	52.6	226	410	443	853	Vied 2wd	3/8;clrd;held	d
			8.0	2 2	BECCA'S	-15	R>R	D>D	62	63 5	62	7.9	5.0	1.58	72	63	69	62	3.50	50.9	204	389	384	773	No threa	t	
			8.0	1 1	ROADTOGOLD	0	R>R	D>D	59	59 9	59	4.5	4.9	0.91	83	80	69	60	4.50	49.0	232	372	431	803	No match	; lasted place	e
			8.0	3 3	SPARKLING	0	R>R	D>D	59	59 2	. 59	7.1	4.3	1.67	77	71	69	59	20.00	48.4	217	369	396	765	Passed t	ired ones	
			8.0	4 4	DEEP END	0	R>R	D>D	55	56 16	55	8.0	5.2	1.53	70	64	69	52	30.00	47.9	203	354	355	709	Never cl	ose	
			8.0	5 5	SECRET	-40	R>R	D>D	47	55 5	47	4.0	4.5	0.89	78	71	47	55	12.00	50.7	196	362	354	717	Never cl	ose	
			8.0	7 7	COMMANDING	0	S>R	D>D	42	47 16	42	6.8	6.9	0.98	55	57	84	49	15.00	55.0	196	341	377	718	Late ral	ly show	

#1 is an early speed horse that tried to wire from the 4-hole ATDS against similar in last and failed; may try again. #2 makes a huge drop to a NLL, not very imposing figs. #3 broke her maiden ATDS two back with a good fig at LAD, bum race in last. #5 is an early speed horse with very little early speed, but has been racing against somewhat better. #6 was vastly overmatched at BEL and eased in her last; drops to a NLL, claimed 2 back by an excellent trainer, gets moneybags Thornton; fastest dirt speed among the starters; obvious choice, maybe too obvious? #8 broke her maiden in last at #16k on turf at 8.5f; has some good dirt works at CD, but never been on dirt, gets Diego Saenz for Tom Amoss, who usually knows what he's doing.

Contenders: #8, #6, #2 - I have a problem seeing anyone else.

Finished 6,3,8 DON: 8-6-2-1 5

																		LAST			IUIL				
								ASP	AVG		ASP							THREE		SECND	PACE	BEST	BEST		
DATE T	RK#	DT	PP PRG	HORSE	CLASS	SRR	SUR :	110	SPD	R#	TDS	SYS1	SYS2	CLOSE	P2F	P4F	PFN	AVG	MLINE	CALL	LAST	ALL	LAST	TOTALS	LAST RACE COMMENT
11/14/18 DE	ED 3	7.0	1 1	MADEFORLIF	10	R>S	D>D	ERR	69	2	ERR	2.1	3.7	0.57	78	65	86	69	2.50	52.1	229	404	430	834	Stlk 4p;no late bid
		7.0	7 7	TUMBLE	0	S>S	D>D	ERR	66	1	66	7.0	3.0	2.33	87		70	66	3.50	53.4	157	412	382	795	Late rally show
		7.0	3 3	FLASH	0	S>S	D>D	63	61	4	61	4.1	3.1	1.30	87	76	69	63	3.00	51.2	232	388	418	805	Gained place
		7.0	9 9	GALAXY	5	S>S	D>D	ERR	54	1	54	6.0	5.0	1.20	77		68	54	12.00	52.1	145	375	341	716	Improved position
		7.0	5 5	JUST	0	S>S	D>D	57	54	3	54	3.3	4.6	0.73	81	74	62	54	10.00	50.4	217	365	389	754	Bid; too late
		7.0	6 6	SNOWBALL	0	S>S	D>D	57	51	2	51	5.6	5.0	1.11	79	75	60	51	12.00	50.6	214	360	386	746	Bid; could not sustain
		7.0	2 2	LA	5	S>S	D>D	ERR	50	1	50	5.0	6.0	0.83	83		57	50	15.00	51.3	140	362	327	689	Evenly
		7.0	8 8	MY LITTLE	0	S>S	D>D	38	43	2	43	3.5	8.2	0.43	89	76	33	43	20.00	45.8	198	334	326	660	Forced pace; faded
		7.0	4 4	OUR STORY	ILR	0>S	>D	ERR	ERR	0	ERR	ERR	ERR	ERR				ERR	4.50	ERR	0	ERR	ERR	ERR	

LACT

TOTI

#1 is an early speed horse moving from the 6-hole; wasn't very quick in her last against cheaper open company; gets Melancon, highest last race fig, 1st off 2 month layoff with boring works. #2 is probably better than her last against open company. #3 comes off three seconds in a row against statebreds, failed as favorite in last, gets Diego Saenz, contender. #4 first timer, Thornton/Broberg, okay works, well bred. #7 ran a nice race in last, possible contender. #9 bet down in last against open company, didn't run a step with Saenz aboard, good connections.

Contenders: Hey, it's a statebred maiden. Probably have to go with the first time starter: #4. After that, maybe #9, #1, #7, #3 Finished 7,3,1 .50 tri paid \$26

DON: 1-3-7-4 9

																	LAST			TOTL				
								ASP	AVG	ASP							THREE		SECND	PACE	BEST	BEST		
DATE T	TRK #	DT	PP PRG	HORSE	CLASS	SRR	SUR	110	SPD R	# TDS	SYS1	SYS2	CLOSE	P2F	P4F	PFN	AVG	MLINE	CALL	LAST	ALL	LAST	TOTALS	LAST RACE COMMENT
11/14/18	DED 4	6.5	7 7	CASTLE ZIP	0	R>S	D>D	72	70 1	72	7.5	5.6	1.34	75	66	77	70	3.50	51.2	218	268	261	529	Evenly
		6.5	2 2	RED FERN	0	R>S	D>D	ERR	69 1	68	6.7	5.9	1.15	71	66	76	67	4.00	51.0	213	267	264	531	Bid; flattened out
		6.5	5 5	EMMA'S	-5	S>S	D>D	67	69 1	9 69	5.8	5.6	1.05	89	89	53	60	15.00	54.4	231	257	262	519	Dueled; tired
		6.5	1 1	CARELESS	0	S>S	D>D	65	66 1	9 66	6.9	3.9	1.79	83	80	65	65	2.50	50.6	228	255	258	513	Finished well
		6.5	10 10	INDYGO	-65	S>S	D>D	59	64 1	<b>5</b> 9	5.1	6.3	0.82	77	72	70	53	12.00	52.5	219	258	231	489	Never close
		6.5	11 11	SKIPADEE	0	S>S	D>D	65	64 1	9 65	6.8	5.8	1.18	68	69	76	64	10.00	52.9	213	250	253	503	Improved position
		6.5	9 9	LATE	0	R>S	D>D	64	63 1	64	5.1	6.0	0.84	78	70	66	62	12.00	50.4	214	246	247	493	Dueled; tired
		6.5	4 4	SUNNY	0	S>S	D>D	57	61 1	61	7.0	6.3	1.10	82	79	53	51	15.00	48.2	214	242	234	476	No threat
		6.5	12 12	TOWN	0	S>S	D>D	60	60 1	9 60	2.7	6.3	0.44	82	78	78	48	6.00	54.4	238	244	273	517	Could not keep pace
		6.5	6 6	STAY READY	0	S>S	D>D	55	56 1	<b>5</b> 6	7.9	7.6	1.04	68	67	55	43	12.00	50.0	190	235	204	439	Never close
		6.5	3 3	RINGNECKDO	0	R>S	D>D	55	56 1	<b>3</b> 55	6.7	7.3	0.92	76	68	81	67	4.50	51.6	225	239	266	504	Just up final jump
		6.5	8 8	THREEPEAT	-5	S>S	D>D	60	55 1	58	7.0	7.5	0.94	84	79	58	62	20.00	51.8	221	239	247	486	Dueled; tired

#1 been running against similar at LAD with little success, little trouble in last at DED, switches to Bourgeois. #2 came 4th in last here against similar. #3 won her last against similar here with highest last race speed rating, highest speed rating ATDS years ago. #5 is a nine-year-old with some good past figures, but hasn't run much this year. #7 has best recent figs by far except in last here against similar, 7 year-old, switches to pretty good trainer, loses Saenz. #10 monster drop, back to winning level last year, boring connections. #12 may be the early speed if she gets in. Can't find any committed early speed other than the also eligible #12. If she gets in and gets an easy lead, she may go.

Contenders: throw a dart. Maybe #7 to close and win. I guess you have to look at #1, morning line favorite. #12 first in TOTAL PACE LAST, and BEST LAST. Finished 2,7,5

DON: 2-7-1-3 10

																	LAST			TOTL				
							ASP	AVG		ASP							THREE		SECND	PACE	BEST	BEST		
DATE TRK #	DT	PP PRG	HORSE	CLASS	SRR	SUR	110	SPD	R#	TDS	SYS1	SYS2	CLOSE	P2F	P4F	PFN	AVG	MLINE	CALL	LAST	ALL	LAST	TOTALS	LAST RACE COMMENT
11/14/18 DED 5	7.5	8 8	BIERMANN	0	S>S	D>D	ERR	59	2	59	5.9	5.9	1.00	73		67	59	8.00	54.6	140	364	305	670	Never a factor
	7.5	5 5	ELDON'S	0	S>S	D>D	57	54	4	57	7.1	6.1	1.16	82	71	65	54	2.50	50.9	218	353	367	720	No late response
	7.5	7 7	SCISSOR	0	S>S	D>D	53	53	4	53	3.4	8.6	0.40	79	81	49	49	30.00	50.1	209	342	344	686	Chased; tired
	7.5	6 6	DREWTEMPO	0	S>S	D>D	64	51	4	59	8.8	5.9	1.47	71	77	69	51	3.50	52.6	217	345	379	724	Outfinished place
	7.5	3 3	OHMYMY	0	S>S	D>D	51	51	2	51	7.5	7.5	1.00	80	69	58	51	8.00	50.8	207	338	341	680	Never close
	7.5	1 1	ATICKETFOR	0	S>S	D>D	64	50	2	50	5.0	5.6	0.90	92	88	57	50	4.50	51.7	237	333	391	724	No late response
	7.5	99	SOME OF	0	S>S	D>D	61	44	3	44	9.3	8.1	1.14	59	69	72	44	15.00	54.2	200	318	346	664	Passed tired ones
	7.5	10 10	CHERRY	-10	S>S	D>D	ERR	44	1	44	5.0	6.3	0.80	81		53	44	6.00	53.7	134	325	292	617	Off slow; evenly drive
	7.5	2 2	MAN ALIVE	-10	S>S	D>D	ERR	30	2	30	6.9	7.7	0.90	81		35	30	12.00	52.6	116	281	234	514	Forward early; retreatd
	7.5	4 4	BUBBA C	ILR	0>S	>D	ERR	ERR	0	ERR	ERR	ERR	ERR				ERR	15.00	ERR	0	ERR	ERR	ERR	

Tough distance for maidens. #1 BTL horse with highest last race fig (tie), highest TOTL PACE LAST and BEST LAST ratings, highest TOTALS (tie); don't like closers in the 1-hole, but may bet this one for my Uncle Will. #3 gets blinkers. #5 had a decent race in last, gets Thornton. #6 BTL with highest last race speed rating (tie), took big drop for last, almost won. #8 bad race in last, first off a layoff, ran a good one two back at LAD against classier. #10 off slow in last at EVD against classier, bet down, didn't run much.

Contenders: #1 - I think it's his race to win or lose, pressing and closing, but may have traffic trouble. After that, maybe 8,5,10

Finished 10,8,6 Exacta paid \$57

DON: 8-1-6-5 10

																		LAST			TOTL						
								ASP	AVG		ASP							THREE		SECND	PACE	BEST	BEST				
DATE	TRK #	DT	PP PRG	HORSE	CLASS	SRR	SUR	110	SPD	R#	TDS	SYS1	SYS2	CLOSE	P2F	P4F	PFN	AVG	MLINE	CALL	LAST	ALL	LAST	TOTALS	LAS	T RACE COMMENT	Τ
11/14/18	DED 6	6.5	8 8	HAWKS PEAK	-60	S>S	D>D	74	77	9	73	3.6	5.5	0.66	93	90	65	84	3.00	54.6	248	361	339	700	Dueled;	tired drive	
		6.5	1 1	HATTIES	-60	S>S	D>D	74	75	10	74	5.7	4.7	1.20	91	93	73	76	2.50	56.3	257	359	360	718	Pressed	4wd; gave way	/;
		6.5	5 5	SENOR	0	R>S	D>D	74	74	10	73	5.9	3.4	1.76	80	80	89	74	4.00	50.3	249	343	356	699	Held swa	ау	
		6.5	7 7	GRAND HOGA	5	S>S	D>D	73	73	10	73	4.1	3.2	1.27	89	82	84	71	10.00	54.0	255	333	354	686	Gained s	show	
		6.5	2 2	BLARNEY	0	R>S	D>D	72	71	10	72	6.5	4.3	1.49	78	72	66	70	5.00	48.7	216	330	319	649	Chased;	tired	
		6.5	9 9	BIG	0	S>S	D>D	71	71	10	71	5.4	3.4	1.58	83	83	74	73	6.00	53.0	240	328	342	671	Could no	ot keep pace	
		6.5	6 6	DOODEE	-5	S>S	D>D	67	69	10	69	2.5	5.3	0.48	90	93	70	74	15.00	54.9	253	321	337	659	Broke or	top;vied;fad	de
		6.5	3 3	GOOD GOSH	0	S>S	T>D	59	66	10	59	6.8	6.7	1.02	80	71	55	60	30.00	54.1	206	312	272	583	Insde; no	o impact	
		6.5	4 4	TOAST TO	-4	R>S	D>D	68	65	10	68	4.0	4.8	0.82	80	73	71	71	12.00	49.7	224	313	321	634	Nothing	left;even sho	OW

#1 big drop, returns to winning level, can wire, press, or close; decent figs, comes from CBY off 3 month layoff, okay works, gets Thornton for Broberg, sheds blinkers, dangerous. #2 is one for 7 on dirt, ran poorly in last, keeps Melancon. #3 turf to dirt, 3rd off, drops, gets Nieves, inferior figs. #4 couple of good races 2 and 3 back at DED, comes off 7 month layoff with boring works. #5 big win in last against cheaper, best dirt speed in race, highest fig ATDS (tie), excellent connections, 2nd off layoff, figures. #6 looks like part of the pace. #7 BTL, second off layoff, highest last race fig, moves up in class, consider. #8 huge drop, good figs at SA/DMR early this year and in last year, highest fig ATDS (tie), wants lead and may get it. #9 good races in last two, won one, can't ignore. Tough race.

Contenders: 1. Others: 8,5,7,9 If #8's healthy, he may wire the field. If he's just up for sale, not so much. I think #1 will try to rate and close. #5's the best closer, but moves up in class. #7's a BTL.

Finished 1,2,7 DON: 1-5-8-7 2

DATE TOV "	DT DD DDG	Hones	0.466	600			AVG	ASP	6) (64	6) (60	0.005	505	5.45	D.E.V.	LAST THREE		SECND			BEST	T0T416	
DATE TRK #	DT PP PRG	HORSE	CLASS	SRR :	SUR :	110	SPD R#	IDS	SYS1	SYS2	CLOSE	P2F	P4F	PFN	AVG	MLINE	CALL	LAST	ALL	LAST	TOTALS	LAST RACE COMMENT
11/14/18 DED 7	5.0 10 1	GIAGIAJOE	20	S>S	T>D	82	82 10	82	3.7	2.9	1.29	95		77	82	5.00	56.1	172	290	265	555	Wide bid; clear 2nd
	5.0 4 5	OUR MILLIE	10	S>S I	D>D	82	81 10	82	4.4	2.7	1.62	92	95	80	87	4.00	56.6	267	284	305	589	Took over;clear;caught
	5.0 8 9	DALE'S LIL	0	S>S I	D>D	86	80 10	80	5.3	3.7	1.43	83	84	82	79	12.00	55.9	249	287	286	573	Late rally show
	5.0 11 1A	ΡΙ	-30	S>S I	D>D	79	76 10	75	3.5	3.4	1.04	86	87	58	77	5.00	51.4	231	269	255	523	Chased; tired
	5.0 78	SAMMIE'S	30	S>S	D>D	75	73 10	73	3.4	4.9	0.69	87		72	69	20.00	53.7	159	262	234	496	Faded drive
	5.0 1 2	HARLONS	-10	S>S I	D>D	76	72 10	69	5.1	5.3	0.98	85		94	81	8.00	57.4	179	274	275	549	Steadily drew clear
	5.0 2 3	ASDRUBAL	30	S>S I	D>D	76	72 10	73	5.3	4.4	1.19	87		86	79	3.00	55.0	173	271	266	537	Steadily drew clear
	5.0 3 4	MISO	15	S>S	T>D	70	72 10	72	4.7	3.8	1.24	84		85	79	12.00	56.9	169	265	257	522	3w; not enuf late
	5.0 9 10	UNTETHERED	-35	S>S I	D>D	69	70 10	70	3.2	4.5	0.71	91		80	69	3.50	54.3	171	267	259	526	Inched clear late
	5.0 5 6	LA REINA	31	S>S I	D>D	ERR	70 10	70	4.7	3.3	1.41	81	79	90	71	10.00	55.7	250	261	291	551	Took over leaving turn
	5.0 6 7	CHLOE	25	S>S I	D>D	72	69 10	72	2.8	4.8	0.59	91	90	86	81	15.00	56.7	267	269	307	576	Kept to task

#1a (AE) can wire or press, watch if she gets in.

#2 ran a career high in race taken off turf at LAD in last, big win, keeps Saenz, drops, comes off 2-month layoff, decent works. #3 drops off nice win at 5f here with competitive figure. #4 comes from EVD off 6-month layoff with boring figs, BTL in last on turf, keeps Melancon. #5 ran figure that would win this two back, comes off 2-month layoff, 6 for 7 ATDS, Melancon goes to #4, Nieves gets up, boring works. #6 moves to excellent trainer, gets Thornton, 4 month layoff from ok win against cheaper in last race at PRM, boring works. #7 wired against cheaper from the 2-hole at LAD in last, two months ago, good connections, okay works. #9 BTL in last here against similar in the mud, okay figs. #10 drops, won last race here at 5f closing, can also press or wire, good work since last, consider.

Contenders: 5,9,1a Finished 1a,2,10 DON: 5-1a-7-3 9

																			LAST			TOTL				
									ASP	AVC	Ĵ	ASP							THREE		SECND	PACE	BEST	BEST		
DATE	TRK :	#	DT	PP PRO	6 HORSE	CLASS	SRR	SUR	110	SPE	) R#	TDS	SYS1	SYS2	CLOSE	P2F	P4F	PFN	AVG	MLINE	CALL	LAST	ALL	LAST	TOTALS	LAST RACE COMMENT
11/14/18	DED	8	8.0	5 1	A WE BIT	10	R>R	D>D	77	78	3 10	77	6.2	4.1	1.50	79	84	56	72	4.50	52.2	219	283	247	529	Btw foes; retreated
			8.0	7 7	ALEX'S	15	S>R	D>D	85	76	5 10	85	3.6	3.8	0.97	83	88	86	82	3.50	56.5	257	286	294	580	4w trip; evenly drive
			8.0	3 4	LUCKY	70	R>R	D>D	78	73	3 10	78	3.7	4.2	0.88	79	82	83	74	6.00	52.7	244	269	286	555	Steady urging
			8.0	10 10	DUE APEAL	0	R>R	D>D	72	71	L 10	72	6.3	4.8	1.31	81	86	57	72	20.00	48.7	224	272	248	520	No real factor
			8.0	8 8	EXIGENT	0	R>R	D>D	71	76	10	71	2.7	5.0	0.54	91	94	48	76	8.00	48.7	233	273	255	529	Nothing left
			8.0	6 6	EXTON	60	S>R	D>D	73	76	8 (	73	4.8	3.9	1.23	85	84	83	74	6.00	56.0	252	265	284	548	Lckd rm; just missed
			8.0	99	STAR BANJO	5	R>R	D>D	70	69	10	70	6.1	5.8	1.06	84	82	82	73	15.00	52.2	248	271	274	545	Outfinished place
			8.0	1 2	JADE STAR	25	S>R	D>D	ERR	69	10	ERR	6.0	6.5	0.92	80	88	76	70	20.00	58.9	244	273	275	547	Evenly
			8.0	4 5	BIG BOY	0	R>R	D>D	76	68	3 10	76	6.3	5.1	1.25	82	80	88	80	3.00	51.0	250	276	295	571	Could not reach winner
			8.0	2 3	MACHINIST	55	S>R	T>D	75	65	5 8	75	3.5	5.8	0.61	96	91	54	56	10.00	55.0	241	262	264	526	Stubbornly drive

#1 reclaimed by Broberg, puts Thornton up; poor races in last two at CBY, okay works, hard to figure. #2 good connections, but can't see it. #3 early speed horse without much speed. #4 has top dirt speed among starters, but long ago. #5 BTL against similar in last at DED, big fig, came in second, work since, hot connections, 2 BTL's in his PP's, no following win. #6 third off layoff, Saenz gets back up, BTL in last as fave - lacked room, came 2nd by a head, stretches out, consider. #7 stretches out, has been bet down in last two at EVD against weaker, no win. #8 likes to run early but can press, ran out of gas in last as fave here.

Contenders: 1,5,6,7,4

Finished 1,5,6 double paid \$36 .50 tri paid \$26 .10 super paid \$23

DON: 5-7-1-4 8

																		LAST			TOTL			
									ASP	AVG	ASP							THREE		SECND	PACE	BEST	BEST	
DATE	TRK	#	DT	PP PRG	HORSE	CLASS	SRR	SUR	110	SPD R#	TDS	SYS1	SYS2	CLOSE	P2F	P4F	PFN	AVG	MLINE	CALL	LAST	ALL	LAST	TOTALS LAST RACE COMMENT
11/14/18	DED	9	6.5	7 7	WARNED	-10	S>S	D>D	76	76 10	76	7.8	5.8	1.35	72	60	91	76	2.00	54.3	223	325	313	638 No factor
			6.5	6 6	FLASHY	0	S>S	D>D	75	75 10	76	3.4	4.0	0.84	87	77	64	70	4.00	50.4	228	313	297	610 No real factor
			6.5	2 2	STEPPIN'	0	S>S	D>D	76	74 10	74	8.9	5.9	1.51	77		84	61	3.50	53.9	161	315	287	602 No threat
			6.5	1 1	ETBAUER'S	0	R>S	D>D	70	72 10	71	4.6	4.7	0.98	80	78	69	72	6.00	49.0	227	301	314	615 Tired drive
			6.5	3 3	ZACKSGOTTH	0	S>S	D>D	73	71 10	73	5.0	3.8	1.31	80	79	85	73	5.00	52.7	244	305	334	639 Outfinished place
			6.5	4 4	BIG RED	5	S>S	D>D	66	67 10	67	2.6	5.8	0.45	91	84	69	67	20.00	53.3	244	294	314	608 Dueled; tired
			6.5	5 5	MAN OF	0	S>S	D>D	59	62 10	58	3.6	7.2	0.51	84	84	32	58	15.00	47.8	200	281	262	544 Dueled; gave way
			6.5	8 8	BURNING	0	S>S	D>D	61	61 10	63	4.7	6.7	0.71	81	83	64	60	30.00	51.5	228	283	298	581 Chased; nothing left
			6.5	9 9	FORUM FORM	0	S>S	D>D	59	58 10	60	8.7	8.0	1.09	66	71	66	55	30.00	49.8	203	274	250	525 Never close

#1 looks like a pop and stop type. #2 mystery horse; terrible last two; good races back in March, boring works. #3 outran his odds in BTL against similar here, highest last race speed rating, boring works, decent connections. #4 pop and stop. #5 pop and stop, couple of good races last year. #6 comes from LAD, ran like piggy in last as fave against similar here, has races that would win this, keeps Thornton for Broberg, no works, might wake up. #7 pretty big drop, excellent connections, ran like piggy in last as fave (first at DED in a long time), consider seriously. #8 pop and stop.

Contenders: 7,6,3

Finished 3,7,6 double paid \$34 exacta paid \$15 Pick 3 paid \$93 .50 tri paid \$21

DON: 3-7-6-1 4

DATE TRK #	DT PP PRO	G HORSE	CLASS	SRR S		P AVG		ASP TDS	SYS1	SYS2	CLOSE	P2F	P4F	PFN	LAST THREE AVG	MLINE	SECND CALL	TOTL PACE LAST	BEST ALL	BEST LAST	TOTALS	LAST RACE COMMENT
11/14/18 DED 10	6 5 0 0	HARLANS	0	5>S D			2		2 5	3.0	1.17	82	 81	62	 59	3.00	51.0	225	304	305	600	Could not keep pace
11/14/16 DED 10	6.5 1 1	PATES CAT	-45				_				0.75	<b>-</b>	-	69	57	8.00			307	260		Unhurried; no threat
	6.5 3 3	YOU COULD		S>S D	. – –		_				1.58		79	71	59	3.50						Second best
	6.5 7 7	PERFECTLY	•	S>S D			_				0.79				51				285			Held position
	6.5 10 10	TOGA DANCE	4	S>S D		_								_	56			221	279	_		Bumped start;improved
	6.5 5 5	ONE SONG	2	S>S D	D 57	48	8	42	6.2	6.8	0.91	82	76	59	59	8.00	54.6	217	279	293		Pressed; nothing left
	6.5 11 11	LIL CHINA	2	S>S D	D 52	48	4	52	7.2	7.2	1.00	82	71	71	47	15.00	56.2	224	277	302	579	No match top two
	6.5 4 4	HERENCIA	2	S>S D	D 31	39	3	31	6.5	8.7	0.75	86	77	22	39	10.00	49.9	185	253	224	478	Forced; tired
	6.5 8 8	TE NA NA	2	S>S D	D 39	39	10	41	7.4	6.1	1.22	78	72	52	50	20.00	54.1	202	249	266	516	Improved position
	6.5 12 12	SILK SHIRT	0	R>S D	D ERF	35	_		–	8.3	0.85	70	70	45	35	30.00	46.6	185	240	237	477	No factor
	6.5 2 2	BELLA	-45	S>S D	D ERF	20	1	20	9.0	10.0	0.90	71		38	20	20.00	50.3	109	229	170	399	Never close
	6.5 6 6	AMERICAN	ILR	0>S >	D ERF	RERR	0	ERR	ERR	ERR	ERR				ERR	15.00	ERR	0	ERR	ERR	ERR	

#1 big drop (mdn to mc) ran well at LAD three back at 4.5f in the mud, off for two months, got blitzed at RP against better in last, gets Mora back, good work (in the mud) since last, may wake up, may just be a mudder. #2 huge drop (mdn to mc), 2nd race, never close in first, boring works. #3 decent race in last here against similar, best dirt speed in race. #6 11% with FTS. #7 highest last race fig, changes barn, likes to run early but not really quick, 2nd off layoff, boring works. #9 has run two decent races so far, lost big as fave here in last, no works since, good connections. #10 comes from LAD, steps up, poor figs, gets Melancon, first-time blinkers, would be a surprise. #11 may be worth a little look if she gets in.

Contenders: 1,3,7,9

Finished 9,1,7,3 double paid \$16 exacta paid \$21 pick 3 paid \$54 pick 4 paid \$289 pick 5 paid \$1068

Don: 9-1-7-3 5